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A. MULTIPLE CHOICE QUESTIONS :  (6 mks)
PHONETICS

Choose the word whose underlined part is pronounced differently from that of the other three. 
1. A. lecture 
B. medium 
C. inventor 
D. president 

2. A. floor 
B. flood
C. moorland 
D. door 
Choose the word which is stressed differently from that of the other three.
3. A. education
B. dependent
C. determine
D. exhausted

4. A. unequal
B. enrolment
C. encourage
D. minimum
READING 

Read the passage and choose the best answer.

      One of the factors in global warming is carbon monoxide. The more carbon monoxide in the atmosphere, the less the atmosphere is able to clean itself. The result is a warming of the atmosphere, the so-called global warming, and possibly ozone damage. 

       Earlier, it was found that carbon monoxide was concentrated in the Southern Hemisphere, and could be attributed to deforestation. Huge areas of forest and grasslands in South America and Africa have been burned, putting carbon monoxide into the atmosphere. Recently, however, the Southern Hemisphere has been found to be clean, while the Northern Hemisphere is more polluted than expected. 

       The latest research was done during the northern winter. The high levels in the Northern Hemisphere could be because of this. In winter carbon monoxide is destroyed more slowly. There are also more fires burned in winter, and possibly industrial processes work harder. It could also reflect the ever-increasing number of cars on the roads. Optimists hope that the reason why the North has overtaken the South as the major area of carbon monoxide is that at last the burning has stopped, or at least slowed down.
5. Which of the following is the best title for the passage? 
A. Global warming.





B. Carbon monoxide in the atmosphere.
C. The warming of the atmosphere. 



D. Ozone damage.
6. Which of the following is NOT a reason for carbon dioxide? 
A. Ozone damage. 
B. Burning of forest. 
C.Traffic. 
D. Industry.

7. According to the author which of the following is a reason why in winter there is more carbon-monoxide in the atmosphere? 

A. Fewer factories are working. 

B. There is a decrease in the amount of traffic on the roads. 

C. Central heating means there are fewer fires nowadays. 

D. Carbon monoxide is not absorbed so fast. 

8. Why are the optimists happy? 

A. People are buying more cars. 

B. There is more carbon dioxide in the North. 

C. They are possibly burning fewer forests in the Southern Hemisphere. 

D. Industry must be doing better. 
Read the following passage carefully and choose the word that best fits each space.


The costs and benefits of global warming will vary greatly from area to area. For moderate climate change, the balance can be difficult to assess. But the larger the change in climate, (9)__________ more negative the consequences will become. Global warming will probably make life harder, not easier, for most people This is mainly because we have already built enormous infrastructure based on the climate we now have.


People in some temperate zones may (10)______ from milder winters, more abundant rainfall, and expanding crop production zones. But people in other areas will suffer from increased heat waves, coastal erosion, rising sea level more erratic rainfall, and droughts.


The crops, natural (11)________, and domesticated and wild animals (including seafood) that sustain people in a given area may be unable to adapt to local or regional changes in climate. The ranges of diseases and insect pests that are limited by temperature may expand, if other environmental conditions are also favorable.


In its summary report on the impacts of climate change, the Intergovernmental Panel on Climate Change stated, “(12)________ as a whole, the range of published evidence indicates that the net damage costs of climate change are likely to be significant and to increase over time.”



Source: https://earthobservatory.nasa.gov)
9. A. a
B. an
C. the
D. no article

10. A. differ
B. benefit
C. vary
D. collect

11. A. vegetate
B. vegetative
C. vegetation           
D. vegetarian
12. A. Taken
B. Made
C. Had
D. Created
USE OF LANGUAGE: Choose the best answers A, B, C or D. 
13. It's my ____ ceremony next week; I think my parents are looking forward to it more than I am.

A. graduation 
B. graduate 
C. graduating 
D. graduates 
14. They ____ sacrifices so that their only child could have a good education. 
A. did

           

B. made
                 C. provided 

D. lent 
15. ____ trees around the house on the south and west sides, they can save up to about $250 a year on cooling and heating. 

A. Having planted 
B. Being planted 
C. To plant 
D. To have planted 

16. The local authorities were blamed ____ ignored the pollution issues in the area.

A. about having 
B. on having
C. for having
D.before having

17. Humans ____ atmospheric carbon dioxide concentration by a third since the Industrial Revolution began. 

A. had increased 
B. were increasing 
C. increase 
D. have increased 

18. It is no use _______ to school if you _______ to work hard.

A. going - do not ready 

B. to go - do not ready

C. going - are not ready 

D. go - are not ready

19. The table ________ legs are broken should be repaired.

A. which 
B. whose 
C. that 
D. Who
20. - "Mom, I've received an offer for a summer internship in Singapore!”
      - “____”

A. Really? Good luck! 


                 B. Oh, that's great! Congratulations!
C. I couldn't agree more.


                 D. Oh, I'm sorry to hear that. 
21. Climate change leads to numerous catastrophic consequences.

A. Numerous catastrophic consequences result in climate change. 
B. Numerous catastrophic consequences result from climate change. 
C. Climate change results from numerous catastrophic consequences. 
D. Numerous catastrophic consequences cause climate change.

22. My Tam is a pop star. She has many famous songs.

A. My Tam, who has many famous songs, is a pop star. 
B. My Tam, that has many famous songs, is a pop star.

C. My Tam, whose has many famous songs, is a pop star.

D. My Tam, which has many famous songs, is a pop star.
Choose the word OPPOSITE in meaning to the underlined word  in each sentence.
23. Our mother encourages us to be open-minded about new opinions and experiences

A. optimistic 
B. elegant 
C. close-knit            D. narrow-minded 

24. She was unhappy that she lost contact with a lot of her old friends when she went 
abroad to tudy. 

A. made room for 
     
B. got in touch with


C. put in charge of 

D. lost control of
Choose the word CLOSEST in meaning to the underlined word in each sentence.
25. Consuming too much junk food increases the risk of obesity. 

A. decrease 
B. reduce
C. raise
D. rise
26. Traffic began to flow normally again after the accident. 

A. with the same speed 

B. in the usual or ordinary way 
C. strangely and irregularly 

D. repeatedly in different modes ERROR IDENTIFICATION: Choose the word or phrases that are not in standard English. 
27. The major goals of primary education is to achieve basic literacy and numeracy among
                     A                                           B         C                                 D

all students.
28. The professor told me that we should give this assignment in by Thursday at the latest.

                                 A
             B
                       C

     D
29. Having deciding on the topic of the presentation, he started finding relevant information
               A
          B                                    C



for it.
  D
30. Higher education is very importance to national economies, and it is also a source of

                                                    A                                    B

trained and educated personnel for the whole country.

                         C                                            D
B. WRITING: (4 mks)
Fill in each blank with the correct form of the words in the brackets. 

1. Global warming may lead to ______________ weather events, including heat waves, floods, and powerful storms, which could affect people's lives. (extremely)

2. The challenge of ___________ exploration has undergone several changes. (geography)

3. The giant panda is an ____________ species. (endanger)
4. The British Government and UK Universities provide a large number of ____________ for international students who wants to study in United Kingdom. (scholar) 
5. The higher education ________________  gained at UK universities and colleges are recognised worldwide. (qualify)

Fill in each blank with a suitable preposition. 
1. Helen takes____________ her mother in many ways.

2. My headaches have been much better since I gave__________ drinking coffee.

3. The computer isn’t working. It broke___________ this morning.

4. He wasn't paying attention __________ the safety instructions.
5. Emily is entirely different _____________ her sister.
Rewrite the following sentences with the meaning unchanged.
· After she had worked hard all day, she was exhausted.

· Having 

1.  “You damaged my bicycle, John!” said Mary.
· Mary accused 

2. “I’m sorry I gave you the wrong number,” said Paul to Susan.
· Paul apologized 

3. The gentleman who lives next door to me is a well-known orator. (Reduced Relative clause)
· _

 
4. The students who were punished by teacher are lazy. (Reduced Relative clause)
THE END OF THE TEST
Học sinh không dùng tài liệu; giám thị không giải thích gì thêm.
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